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I T BA I AT A TE I 3 * 44 680 8712 35 541 89.7 19.9 68.9 T BA I AT A TG 3 * 44 680 8 712 35 541 64.2 14.6 49.0
B 7 430 1518 5811 13.5 3.3 10.1 B 7 430 1518 5811 13.5 3.3 10.1
PFREAY * 12 443 2291 10 029 24.0 5.2 18.5 OF * 12 443 2291 10 029 24.0 5.2 18.5
B = = MR % 5 087 904 4126 8.0 1.7 6.3 BT 2 = MR % 5 087 904 4126 8.0 1.7 6.3
PEERIN = o M % 11 367 2275 9 002 18.7 4.4 14.2 (Rl o = N % 11 367 2 275 9 002 18.7 4.4 14.2
AT — e R - - - - - - AT Y — e 2R - - - - -
AETEFH R B B N * - - - - - - AETEFH R B B E SN * - - - - -
AR RE I RN 18 5 12 0.1 0.0 0.1 AETERERE M RSN 18 5 12 0.1 0.0 0.1
BEBEIIM RSN GR * 265 57 206 22.1 4.7 17.2 BEREAIHAHI NG * 265 57 206 22.1 4.7 17.2
E RIS RE RN * 65 16 49 1.2 0.3 0.9 E RIS RE BN * 65 16 49 1.2 0.3 0.9
FRAVEATED - DBUAE IR B B0 E * - - - - - - AT - D PRI ER 2 S _ _ _ _ _ _
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PN 4263 935 3310 23.2 5.1 18.0 PN 4263 935 3310 23.2 5.1 18.0
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I B A E A (1) 185 38 145 0.9 0.3 0.6 IR B LB L EMR (1) 2 843 525 2 290 10.3 2.7 7.4
IR BB S E N (1) 40 7 32 0.3 0.1 0.3 IR B LGB SCE N (1) 185 38 145 0.9 0.3 0.6
St B AL SN (1) 3 1 2 0.0 0.0 0.0 IR B LB s N (1) 40 7 32 0.3 0.1 0.3
IR B LB SGE N (IV) 3 1 3 0.0 0.0 0.0 IR B LB SE N (V) 3 1 2 0.0 0.0 0.0
I HEN BB SE IR (V) = = = = - = IR B LB SE N (V) 3 1 3 0.0 0.0 0.0
T BRI IR AR i * 6016 947 4957 6.2 1.1 4.9 T BRI i * 6016 947 4957 6.2 1.1 4.9
PP AR I AR AR BREEIUR (BE D 7x) * 0 - 0 0.0 - 0.0 TRBEIRE AR I R AR BR R AL (R Be D7) * A0 - A0 0.0 - 0.0
[ BT R (B 72) * 0 - 0 0.0 - 0.0 % Pl R ORBED #) * A 0 - A 0 0.0 - 0.0
IR SR BRI O 4) * 0 0 0.0 0.0 0.0 IR R (BB O #4) * A 0 A A 0 0.0 0.0 0.0
B HRHIRE AT O &) * - - - - - - B FRGRE (I TT O &) * - - - - - -
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